

## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBJ 1690A

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DENTED / DEFORMED	1,450.00	685.10
2	FRONT BUMPER BRACKETS @\$98.20	BENT	196.40	196.40
2	FRONT BUMPER SIDE COVER GARNISH @\$172.00	NOT NECESSARY	344.00	-
1	FRONT BUMPER LOWER GRILLE (CENTRE)	TORN	428.00	145.80
1	FRONT BUMPER REINFORCEMENT	TO REPAIR SEE LABOUR	682.00	-
1	FRONT BUMPER REINFORCEMENT FOAM	NO SUCH PARTS	112.00	-
1	FRONT CENTRE GRILLE UPPER PANEL	CRACKED	298.00	298.00
1	FRONT CENTRE GRILLE LOWER PANEL	CRACKED	372.00	372.00
2	RHS & LHS HEADLAMP @\$984.50	HOLDER CRACKED	1,960.00	1,590.20
2	RHS & LHS HEADLAMPS MOUNTING @\$80.00	NOT NECESSARY	160.00	-
1	FRONT CENTRE PANEL (BONNET)	DENTED / BENT	1,225.00	655.10
1	FRONT BONNET INNER LOCK	TWISTED	238.00	185.40
1	FRONT BONNET INNER LOCK CATCH	NO SUCH PARTS	48.00	-
2	FRONT BONNET HINGES @\$72.50	NOT NECESSARY	145.00	-
1	FRONT BRACE PANEL	BENT	98.00	98.00
1	FRONT CENTRE PANEL (BONNET) BADGE	NECESSARY	72.00	68.50
2	FRONT CORNER PANEL RH & LH @\$540.00	TO REPAIR SEE LABOUR	1,080.00	-
1	FRONT WIPER ARM GARNISH	NOT NECESSARY	242.00	-
1	RADIATOR	BENT / PUNCTURE	1,020.00	1,020.00
1	AIR CON CONDENSOR	BENT / PUNCTURE	1,420.00	1,420.00
1	INTER COOLER (AUXILLIARY RADIATOR)	NOT NECESSARY	1,540.00	-
1	FRONT SUPPORT PANEL	BENT	782.00	645.30
1	WIPER WASHER TANK	NOT NECESSARY	492.00	-
1	TAILGATE	BADLY DENTED	2,250.00	2,201.10
1	TAILGATE (COMPARTMENT) EDGE WEATHERSTRIP	TWISTED	375.20	375.20
1	TAILGATE CENTRE GARNISH	NOT NECESSARY	289.50	-
1	TAILGATE LOCK (TOP)	DENTED / JAMMED	295.20	295.20
1	TAILGATE LOCK (LOWER) CATCH	NOT NECESSARY	142.60	-
2	TAILGATE DAMPER @\$322.70	NOT NECESSARY	645.40	-

Report Ref No. CS/SMO20007793/Utf3e2



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	TAILGATE HINGES @\$98.50	NOT NECESSARY	197.00	-
1	TAILGATE THIRD BRAKE LIGHT (NPA)	NOT NECESSARY	-	-
1	TAILGATE INNER TRIM BOARD	NOT NECESSARY	250.00	-
2	TAILGATE SIDE RUBBER @\$48.00	NOT NECESSARY	96.00	-
1	REAR WIPER WASHER NOZZLE (NPA)	NOT NECESSARY	-	-
1	REAR WIPER BLADE (NPA)	NOT NECESSARY	-	-
1	REAR WIPER MOTOR (NPA)	NOT NECESSARY	-	-
1	REAR WINDSCREEN (NPA)	NOT NECESSARY	-	-
1	REAR WINDSCREEN RUBBER	NO SUCH PARTS	298.20	-
2	REAR NUMBER PLATE LAMP @\$58.00	NOT NECESSARY	116.00	-
1	REAR BUMPER	DISTORTED	1,120.00	681.10
2	REAR BUMPER SIDE RETAINER @\$98.40	NOT NECESSARY	196.80	-
2	REAR RHS & LHS CORNER PANEL @\$389.50	DENTED / TORN	779.00	330.00
2	RHS & LHS TAILLAMP @\$695.80	SCRATCHED / CRACKED	1,391.60	776.20
1	REAR FLOOR PANEL (NPA)	TO REPAIR SEE LABOUR	-	-
1	REAR FLOOR PANEL TOP PROTECTOR PLATE	NOT NECESSARY	198.00	-
1	REAR END PANEL (INNER)	BADLY DENTED	782.00	782.00
1	REAR END PANEL (OUTER)	BADLY DENTED	658.00	611.10
1	SPARE TYRE HOLDER	NOT NECESSARY	185.50	-
1	REAR EXHAUST PIPE	NOT NECESSARY	782.00	-
4	REAR EXHAUST SILENCER PIPE MOUNTINGS	NOT NECESSARY	98.00	-
	LESS 25% DISCOUNT		-6,387.60	-3,357.93
			19,162.80	10,073.77
	SPECIAL NETT ITEMS			
1	TOYOTA BADGE REAR (SN)	NECESSARY	72.00	45.00
1	70KM/HR STICKER (SN)	NECESSARY	30.00	10.00
1	SET REVERSE PARKING SENSORS (SN)	SHORTED	280.00	200.00
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	100.00	40.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	100.00	50.00
1	REAR LICENCE PLATE (SN)	BENT	50.00	15.00
1	FRONT LICENCE PLATE (SN)	BENT	50.00	15.00

Report Ref No. CS/SMO20007793/Utf3e2



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RADIATOR COOLANT (SN)	NECESSARY	40.00	30.00
			722.00	405.00
	<u>LABOUR</u>			
	TO REMOVE THE AFFECTED PARTS & FITTINGS TO COMMENCE REPAIRS; PANEL BEAT & RESHAPE THE AFFECTED AREAS AND REPLACE THE DAMAGED PARTS AND COMPONENTS. (FRONT & REAR). INCLUSIVE OF THE REPAIR OF FRONT BUMPER REINFORCEMENT, FRONT CORNER PANEL RH & LH AND REAR FLOOR PANEL.		2,400.00	1,500.00
	TO SUPPLY PAINT MATERIALS, EXPANDABLE ITEMS & PUTTY, RESPRAY PAINT ON PARTS REPLACED & REPAIRED (FRONT & REAR).		2,000.00	1,400.00
	TO REMOVE, REFIX WIRING SYSTEM AT ACCIDENT DAMAGED AREAS AND CHECK FOR PROPER FUNCTION & FOCUS HEADLAMP BEAM.		250.00	30.00
	TO REMOVE / REFIX INNER TRIMS, FITTINGS, GARNISH ETC AT REAR COMPARTMENT SO AS TO FACILITATE REPAIRS AT REAR.	NOT NECESSARY	250.00	-
	TO REMOVE AND REFIX REAR WINDSCREEN.		140.00	100.00
	TO REMOVE AND REPLACE REVERSE SENSORS AND TEST FOR PROPER FUNCTION.		100.00	50.00
	TO REMOVE AND REPLACE REAR EXHAUST SILENCER ASSEMBLY REALIGN TO FIT AND CHECK SYSTEM FUNCTION.	NOT NECESSARY	250.00	-
	TO REMOVE AND REPLACE RADIATOR & INTER COOLER PRESSURE TEST AND REFILL COOLANT. }		100.00	-
	TO REMOVE AND REPLACE AIR CON CONDENSOR, VACUUM AND REFILL GAS. }		180.00	100.00
	TO PERFORM ANTI-RUST TREATMENT ON AFFECTED AREAS.		270.00	120.00
			_	- -
			_	-
			-	-
			5,940.00	3,300.00
	GRAND TOTAL		25,824.80	13,778.77



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		11,000.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/SMO20007793/Utf3e2

CHUA KANG SENG
Licensed Appraiser